Money word problems

1)  Dave has £19. He spends £4. How much will he have left?

2) A rubber ball costs 12p and a stick of gum costs 6p. How much
will they cost altogether?

3) Brad finds 40p. He pays 20p for a piece of Lego. How much
change will Brad get back?

4)  One t-shirt costs £25 and another one costs £20. How much
cheaper is the second t-shirt?
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To access the 3 complete worksheets (including answers), with
10 questions on each, at these levels of difficulty:

e one-step problems using addition and subtraction
e one-step problems using all 4 operations
e fwo-step problems using all 4 operations
visit

http://www.saveteacherssundays.com/maths/year-2/133/money-
word-problems-ks1/
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